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0) Read each of the

Directions (Q.Nos. 16-2
ly and answer the

following passages careful
questions given below it.

Passage

r, examine careful
del you are considering. Many 4

model has got 1nto trouble by
or too long for his garage.
Furthermore, 2 long car 1s too hard to manage in
traffic and too difficult to park. Another feature is the
comfort afforded. Are the seats nice and durably
upholstered? s there enough glass to give the driver a
good view in all directions, particularly to the rear? It
should be remembered that the heavier and the more

powerful a car is, ensive it will be to
operate. High powered motors require expensive high

octane petrol. The greater weight means greater yre
wear and enlarged brakes. The old cliche is still true :
it is not the initial cost but the upkeep which matters.
16. The writer favours 2 car with a wide glass
areas so that the driver can
(1) enjoy the scene outside while dnving

(2) have 2 good view of the rear
(3) roll down the glass panes 10 getenough fresh air
(4) display his beautiful upholstery with pride

17. 1t is very expensive to maintain a large car

because it

(1) 1s heavy
(2) requires more space for parking

(3) needs changing its tyres more frequently
(4) needs more durable upholstery
18. While buying a car, One should specially

consider its
(1) price
(3) upholstery
19. According to this passage,
the buyer of a new car shou
(1) its price and size
(2) its model and upholstery
(3) its size and the comfort it offers
(4) its upholstery and glass area
90. The size of the car should be in accordance with
(1) the money one can afford to pay
(2) the size of the garage the buyer has
(3) the width of the road where the buyer lives
(4) the volume of traffic on road

Directions (Q.Nos. 21 and 22) Read each of
the following sentences carefully and find out
. y;htc_h part of the sentence has an error. If ther:e
is no error, your answer is (4). ‘

. ‘When you buy aca ly the important
features of the mo
buyer of the latest
buying a car oo broad

(2) maintenance cost

(4) brakes

the two factors that
1d keep in mind are

&

21. Neither he nor his brother (1)/ can

(2)/ than me. (3)/ No error (4) walk faster
It is easy (1)/ distinguishing this pen

that. (3)/ No error (4) (2)/ from
Choose the word/phrase which is closest to the
opposite in meaning of the italicised part.

Many snakes are innocuous.

(1) poisonous (2) harmless
(3) deadly (4) ferocious

Directions (Q.Nos- 94 and 25) In each of

the following questions, ¢ word has been

written in four different ways, out of which
e is correct. ind the correctly spelt

22.

23.

only on
word. .
24, (1) Parimentary 2 Parliamentery
(3) Parliamentary (4) parliamantary

(2) Entrepreneur
(4) Entrepranaur

Directions (Q. Nos. 96 and 27) In each of
the following questions, out of the four
alternatives, choose the one which can be
substituted for the given words/ sentences.

26. Relationship by birth
(1) Consanguinity
(3) Affiliation

27. A name adopted by
(1) Nickname
(3) Title

928. Choose the correct

alternatives.
He stood ...... asarock and faced the challenge.
(3) big (4) quiet

(1) still (2) solid
Directions (Q.Nos. 29 and 30) In each of the
following questions, an idiomatic expression/

a phrase has been given, followed by four
the one which best

25. (1) Entrapreneur
(3) Entrepraneur

(2) Parentage

(4) Nepotism

an author in his writings
(2) Pseudonym

(4) Nomenclature

word from the given

alternatives. Choose
expresses the meaning of the given
idiom/phrase.
29. The pros and cons
(1) Former and latter (2) Good and e

(4) For and againsta thing

)
3

(3) Foul and fair

30. To make both ends meet
(1) To earn enough
(2) To work hard :
(3) To live within one's income '
(4) To manage the business .~ " b
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